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Question Number : 1 Question Id : 3210111751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Duramater and arachnoid meninges extend upto the lower border of which vertebra?

Options:

% 299 lumbar

> % 3™ lumbar

21 sa0ral

s 5% cacral

Question Number : 1 Question Id : 3210111751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 3210111752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The anterior spinal artery is a branch of:
Options:

1 « Vertebral



> % Internal carotid

- » DBasilar artery

4 % Labyrinthine

Question Number : 2 Question Id : 3210111752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 3210111753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the largest cranial nerve?
Options:
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Question Number : 3 Question Id : 3210111753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 3210111754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Broca’s (motor speech) area is located in the lobe of the dominant hemisphere.

Options:
, % Dparietal

> « Trontal

- % temporal

4 % occipital

Question Number : 4 Question Id : 3210111754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 3210111755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The number of teeth-like processes in the ligamentum denticulatum are:

Options:
i ® 10
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Question Number : 5 Question Id : 3210111755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 3210111756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the thickest boundary of the orbit?

Options:
1 « Lateral

- % Medial
=z % Roof

4 % Floor

Question Number : 6 Question Id : 3210111756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210111757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nasolacrimal duct opens into:

Options:
1 + Inferior meatus

> % Vestibule of nose
z % Middle meatus

4 % Superior meatus

Question Number : 7 Question Id : 3210111757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 3210111758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An infection in the dangerous area of face usually leads to:

Options:
, = Superior sagittal sinus thrombosis

- % Transverse sinus thrombosis



= « Cavernous sinus thrombosis

4 % Brain abscess

Question Number : 8 Question Id : 3210111758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U F THCTIUT &F H TFHAV & FoIasd FHAIT: g &
Options:

|« GITER dfSee A gesed

, « THIE WEAW yrEEd
. v PINH WEAE YFEEH

4 ® ﬁ?-l't'?@'ﬂ'

Question Number : 9 Question Id : 3210111759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Supraorbital artery is a branch of:

Options:
, = Maxillary

- % External carotid

-  Ophthalmic

4 % Internal carotid

Question Number : 9 Question Id : 3210111759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210111760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is not a branch of maxillary artery?

Options:
, % Anterior tympanic

> « Anterior ethmoidal

- % Middle meningeal

4 % Inferior alveolar

Question Number : 10 Question Id : 3210111760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 3210111761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a muscle for mastication?

Options:
, % Medial pterygoid

-~ % Masseter



- w lemporalis

4 « Orbicularis oculi

Question Number : 11 Question Id : 3210111761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 3210111762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 3210111762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When the cephalic index is 75 or less, the subjects are said to be of type:
Options:

, « Dolichocephalic

> % Mesaticephalic



- w Diencephalic

, » DBranchycephalic

Question Number : 13 Question Id : 3210111763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The scalp is made up of how many layers?
Options:

1 = 3

Question Number : 13 Question Id : 3210111763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToEr 7 fdelr e 2T 27
Options:

1 #® 3

Question Number : 14 Question Id : 3210111764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Uterine artery is a branch of which artery?

Options:
1 % External iliac

- « Internal iliac

= % Abdominal aorta



4 % Common iliac

Question Number : 14 Question Id : 3210111764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210111765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a content of broad ligament?

Options:
1 % Uterine tube

- w Ovarian ligament

- u Round ligament

4 « Cervix

Question Number : 15 Question Id : 3210111765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 3210111766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the normal position of uterus?

Options:
1 « Anteverted and antiflexed

- % Retroverted and retroflexed
% % Anteverted and retroflexed

4 % Retroverted and anteflexed

Question Number : 16 Question Id : 3210111766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 3210111767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Meckel’s diverticulum is a remnant of:
Options:

1 % Mullerian duct

- % Wolffian duct
Mesonephric duct

i

4 « Vitellointestinal duct



Question Number : 17 Question Id : 3210111767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 18 Question Id : 3210111768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Peyer’s patches are present in:

Options:
1 % Duodenum

> % Jejunum

z « Ileum

4 % Transverse colon

Question Number : 18 Question Id : 3210111768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 3210111769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Accessory pancreatic duct is also called as:

Options:
, » Wirsung duct

- « Santorini duct

=z % Hensen's duct

4 % Hoffman’s duct

Question Number : 19 Question Id : 3210111769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 3210111770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following structures passes deep to flexor retinaculum of the ankle?

Options:
1 % Tibialis anterior

> u Extensor halluces longus

- % Saphenous vein

4  Posterior tibial artery



Question Number : 20 Question Id : 3210111770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 3210111771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Compression of the nerve leads to sleeping foot.

Options:
1 « sciatic

» % femoral
% % tibial

4, % deep peroneal

Question Number : 21 Question Id : 3210111771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 3210111772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following muscles is known as the peripheral heart?

Options:
1 « Soleus

> % Gastrocnemius

- u Adductor longus

4 % Tibialis anterior

Question Number : 22 Question Id : 3210111772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 3210111773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following veins is a direct tributary of superior vena cava?
Options:

, w Hemiazygos vein

> % Right superior intercostal vein

- » Right bronchial vein

4 « AZygos vein

Question Number : 23 Question Id : 3210111773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 3210111774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The amount of blood pumped out by each ventricle during each heart beat is called as:

Options:
1 % Cardiac index

- % Minute volume
3 « Stroke volume

, = Ejection fraction

Question Number : 24 Question Id : 3210111774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210111775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210111775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the first step in the preservation of drugs?
Options:

, « Labelling of drugs

- u Selecting appropriate place and method of preservation

- u Use of suitable containers for drugs

4 % Separate management

Question Number : 26 Question Id : 3210111776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following bottles does the fluoric acid is stored.

Options:
, « Actinic glass bottle
> % Gutta purcha

= % Blue coloured bottle

4 % Yellow coloured bottle

Question Number : 26 Question Id : 3210111776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 3210111777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 3210111777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following should be kept in tightly closed bottles?
Options:
, w Argentum nitricum

> u Phosphorus

= « Moschus

4 % Lachesis

Question Number : 28 Question Id : 3210111778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lachesis mother substances are preserved in:



Options:
1 % Yellow coloured

> u Gutta purcha bottles

- o« Glycerine in phial

4 % Amber-coloured bottles

Question Number : 28 Question Id : 3210111778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 3210111779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tinctures or solutions should be kept at the temperature of about:

Options:
1 ® 75°F

o W 55°F
2 B 50°F

4 o 5{}DF

Question Number : 29 Question Id : 3210111779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




% 75°F

95 °F

2 %

.y BO°F

, v B0°F

Question Number : 30 Question Id : 3210111780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Causticum mother tincture should be preserved in which of the following bottles?

Options:
, = Amberic glass bottle

o o Alembic glass bottle

- w Gutta purcha bottle

4, % Glycerine in phial

Question Number : 30 Question Id : 3210111780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Acid muriacticum should be preserved in which of the following bottles?
Options:

1 « Well-closed container

- u Light-resistant container

5 % Stored in glycerin

, = Glass coated with paraffin

Question Number : 32 Question Id : 3210111782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ammonium carbonicum should be preserved in a well-closed light-resistant containers with temperature not above:

Options:
1 B 10°

o W 20°

3 ¢ 30°

Question Number : 32 Question Id : 3210111782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1 ® 100
P 20’0
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Question Number : 33 Question Id : 3210111783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210111783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Argentums nitricum and its preparation of up to 6x potency should be kept in which of the following?

Options:
L % Well-closed glass-stoppered bottle

5 u Amber glass stoppered bottle

- % Earthenware container

4 « Well-closed light-resistant bottle

Question Number : 34 Question Id : 3210111784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T=fafes 7 ¥ 0 B8 F 70 & 9wfam G 5= afge?

Options:



. HToA=cH A
) ®
> % oehiad
5 o HTOISTH

, & BISSICINeh 375l

Question Number : 34 Question Id : 3210111784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following should be preserved in earthenware containers?

Options:
, w -Argentums nitricum

- % Lachesis
= « lodium

, » Hydrofluoric acid

Question Number : 35 Question Id : 3210111785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The correct full form of Abies.c is:
Options:

1 « Abies Canadensis

> u Abiesnigra

- u Abroma augusta

4 % Abrotanum

Question Number : 35 Question Id : 3210111785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210111786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct abbreviation to indicate the drug name Aesculus glabra is:
Options:

LW Aesc.g

5 u -Aeth.cy

5 % Aeschip

4 % Act.sp

Question Number : 36 Question Id : 3210111786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
, « Aescg

. u Aeth.cy

- » Aesc.hip

4 u Actsp

Question Number : 37 Question Id : 3210111787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alum. is the abbreviation for:
Options:



1 % Alumen
5 « Alumina
= % Aluminium metallicum

4 % Aluminium silicata

Question Number : 37 Question Id : 3210111787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 3210111788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct abbreviation for the drug Viscum album is:

Options:
1« Visc.

> % Viscu.
%z % Visc.al

4 % Vis.alb

Question Number : 38 Question Id : 3210111788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




1« Visc.
> # Viscu.
= % Visc.al

4 % Vis.alb

Question Number : 39 Question Id : 3210111789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The abbreviation of the the drug tarantula hispanica is:

Options:
1.« Tarent.

- % Tarenth.
% % Tare.his.

, = Tarent.hisp.

Question Number : 39 Question Id : 3210111789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

eRugen Frafaar Amwe gar #T diEd 1 g
Options:

1 « Tarent.

> % larenth.
=z % lare.his.

4 = larenthisp.

Question Number : 40 Question Id : 3210111790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct abbreviation of the drug Ratahnia is:

Options:
1. o Bat.



o ® Rattan.
o Rata.

4 % Rath.

Question Number : 40 Question Id : 3210111790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IEITaT ATHF 4T T Har i8cd a1H &
Options:

1 « Rat.

- % Rattan.
= # Rata.

4 ® Rath.

Question Number : 41 Question Id : 3210111791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct abbreviation of the drug petroselinum?

Options:
1.« Petros.

> % Petro.
= % Petrosel.

4 ® Pet.

Question Number : 41 Question Id : 3210111791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S OFH ATHF a1 FT HEl Fiereg AT &

Options:
1 « Petros.

> % Petro.



2 # Petrosel.

4 ® Pet.

Question Number : 42 Question Id : 3210111792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eup.pur. ia the abbreviation for:
Options:

, w Eupatorium perfoliatum

-  Eupatorium purpureum

- » Euphrasia officialis

4 = Erigeron

Question Number : 42 Question Id : 3210111792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eup.pur. S8 TiéTT a7 &

Options:
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Question Number : 43 Question Id : 3210111793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct abbreviation of the drug carbo vegetabalis?

Options:
1 % Carb.ac

5 o Carbo.veg.



- u Caeb.veg

4 % Carb.

Question Number : 43 Question Id : 3210111793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Frar STecTaTy ATH® &aT T Har gfecq a1F &
Options:

1 # Carb.ac

-  Carbo.veg.
- » Caeb.veg

4 % Carb.

Question Number : 44 Question Id : 3210111794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who is the author of the book Materia Medica Of Nosodes?
Options:

1 # Dr. Swan

> « H.C. Allen
z % J. H. Clarke

4 = Dr. C. Caspari

Question Number : 44 Question Id : 3210111794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 45 Question Id : 3210111795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mode of collection of lacs?
Options:

1 + Domestic animals

- % Wild nimals
%z % Dead animals

4 % Preserved animals

Question Number : 45 Question Id : 3210111795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T % HIAFUT FT =T 87
Options:
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Question Number : 46 Question Id : 3210111796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following wild animals is gathered by hunting?

Options:
1 « Musk deer
> % Cod fish

z % Moth

4, w Tarentula hispanica



Question Number : 46 Question Id : 3210111796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 47 Question Id : 3210111797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Exotic drug substances should never be imported in powder form and without proper identification of their

genuineness.’ This is explained in which aphorism?

Options:
1 ® 267

5 o 268

Question Number : 47 Question Id : 3210111797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, ® 267
e 268
> % 269

L # 270



Question Number : 48 Question Id : 3210111798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the ideal time to collect narcotic plants?

Options:
1 % Late in autumn

- + While in boom or just before

5 % Inearly spring

4 = Assoon as they mature

Question Number : 48 Question Id : 3210111798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e diet & sogr Fa & AT e gEy 4 22

Options:
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Question Number : 49 Question Id : 3210111799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Non-resinous substances are supposed to be collected from:
Options:

| « Young vigorous trees

- % Old withered trees

5 w Decayed trees

, w Flowering plants



Question Number : 49 Question Id : 3210111799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 3210111800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The biennials are usually supposed to be collected during:
Options:

.« Spring of the second year

o % Spring of the third year

5 u early autumn

4 w dry weather

Question Number : 50 Question Id : 3210111800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 3210111801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which aphorisms explain about the collection of drug substances?

Options:
| o 264 & 266
5 % 266 & 267

5 % 250 & 252

e
E
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P
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o

Question Number : 51 Question Id : 3210111801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FiF-8T gF Awefr qerdl & TIg0r & IR H AT waT g7

Options:

1 « 264 & 266

. 266 & 267
- # 250 & 252

, # 254 & 256

Question Number : 52 Question Id : 3210111802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The drug substances should be collected:
Options:

, w during early morning dew

> u after heavy rainfall

- » during excessive heat

4« during sunny, dry weather

Question Number : 52 Question Id : 3210111802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 3210111803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the ideal time for the stems to be collected?
Options:

, w Partly in bud and partly in blossom

- u Early part of flowering time

5 o After development of leaves

4 # When stem begins to shoot

Question Number : 53 Question Id : 3210111803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 3210111804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Which is the ideal time for bulbs to be collected?
Options:

, = Early part of flowering time

> w Development of leaves and blossoms

- + Wwhen the leaves begin to decay

4 % When the plant is fully developed

Question Number : 54 Question Id : 3210111804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 55 Question Id : 3210111805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The drug belladonna is taken from which source?
Options:

. + Whole plants - including roots

- % Whole plants - excluding roots

- % Hanging aerial roots

, = Modified underground stem

Question Number : 55 Question Id : 3210111805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 56 Question Id : 3210111806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The drug cicuta virosa is collected from:

Options:
1 « Fresh roots

- % Dried roots

- % Hanging aerial roots

4 % Roots of rhizome

Question Number : 56 Question Id : 3210111806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 3210111807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The source of the drug Sabina is:

Options:
, % Only stem

> « Stem with leaves
%z % Stem tuber

, % Modified underground stem

Question Number : 57 Question Id : 3210111807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 58 Question Id : 3210111808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The drug allium sativum is collected from:;

Options:
1 % Rhizome
- % Stem tuber

= % Corm

g Bulb

Question Number : 58 Question Id : 3210111808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



o #@feaw A s gar g Fr AT §

Options:

|« TG (TFSTH) H

o B W‘H ;.Er

. & TG (FA) ¥

L v FC (Fo9) @

Question Number : 59 Question Id : 3210111809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Carica papaya is extracted from:
Options:

. w Fleshy fruits

- % Dried fruits

o o Pulps

4 % Legumes

Question Number : 59 Question Id : 3210111809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 60 Question Id : 3210111810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The source of the drug fucus vesiculosus is:
Options:
, o Algae

o x Fungi

z % Lichens

4 % Spores

Question Number : 60 Question Id : 3210111810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 61 Question Id : 3210111811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The alkaloid codeine is prepared from:

Options:
i ® Areca

> % Ophidia

5 o Opium

4 % Senecio

Question Number : 61 Question Id : 3210111811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 62 Question Id : 3210111812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The common name of the drug cimex acanthia is:

Options:
1 % Plant lice

-  Bedbug

- % Ladybug

, = Potato bug

Question Number : 62 Question Id : 3210111812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

H=g Thieydr AT a1 & TH T A1F &

Options:

Question Number : 63 Question Id : 3210111813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fel tauri refers to:
Options:



, w Fresh gall of dog

o o Fresh gall of horse

- u Fresh gall of ox

4 % Fresh liver of fox

Question Number : 63 Question Id : 3210111813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 64 Question Id : 3210111814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a metalloid?

Options:
1 % Bromium

- % Jodium
z % Cobaltum

4 « Arsenic

Question Number : 64 Question Id : 3210111814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o 7 @ Fla-dr v 39uTg 27

Options:



Question Number : 65 Question Id : 3210111815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a sarcode prepared from extract?
Options:

| + Oophorinum

5 w Pepsin

= % Cholesterinum

4 % Insulin

Question Number : 65 Question Id : 3210111815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 3210111816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Elements of Homeopathy is a book written by.

Options:



, » Dr C. Caspari

- « Dr. P. Sankaran
3z % Dr. H. C. Allen

, = Dr. Elizabeth Wright

Question Number : 66 Question Id : 3210111816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TfodATH A% Gl JTHE Jede & @ Pl g7

Options:

Question Number : 67 Question Id : 3210111817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Pharmacopeia Homoeopathic Polyglotica’ is a book written by?

Options:
, w Dr. Carl W. Caspari

> « Von Willmar Schwabe
=z % Lawrence T. Ashwell

4 = Dr. C. Caspari

Question Number : 67 Question Id : 3210111817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BIATRITIAT G didralica AHE ITaF & oIEH Hid 87

Options:
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Question Number : 68 Question Id : 3210111818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BIFOrTYs BEAEI A AE JUaT 7 a¥ & geifda #r T8 o

Options:

| % 1825
. % 1870
2 v 1897

L # 1971

Question Number : 68 Question Id : 3210111818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear was homoeopathic pharmacopeia of USA was published?

Options:
1 % 1825

5 % 1870
5 o 1897

4 % 1971

Question Number : 69 Question Id : 3210111819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The lesser writing of Samuel Hahnemann ‘on the value of speculative system of medicine, especially in connection with

various systems of practice’ was published in the year:

Options:



| « 1808
> % 1809
5 % 1820

4 % 1821

Question Number : 69 Question Id : 3210111819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v 1808
. = 1809
5 = 1820

4 % 1821

Question Number : 70 Question Id : 3210111820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Extemporaneous dispensing of pharmacy is done at:

Options:
, w Laboratory

5 % Factory

= % Research centres

s Dispensaries

Question Number : 70 Question Id : 3210111820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 3210111821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person skilled or engaged in a pharmacy is called as:

Options:
, % FPharmacologist

> « Pharmacist
= % Pharmacochemist

4 % Pharmaceutist

Question Number : 71 Question Id : 3210111821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I chied, S FHE! STEET A FUT A FIed @1l ¢, PeeAdl g

Options:
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4 % Al o

Question Number : 72 Question Id : 3210111822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simply mixing of liquid with water or any other liquid called as:
Options:

1 % Sedimentation



> « Dilution
%z % Decantation

4 % Filtration

Question Number : 72 Question Id : 3210111822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
JrIRUTT: 9= O 35 30T g9 # 12 g9 e = 7 Jar g

Options:

1 % 39HICGe

Question Number : 73 Question Id : 3210111823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which aphorism did Hahnemann explain about massage?

Options:
;. % 288

Question Number : 73 Question Id : 3210111823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
giaa o Fw g 7 aferr & ) # s g7

Options:

, % 288

. % 289
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. % 201

Question Number : 74 Question Id : 3210111824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which aphorism explains about ‘law of simplex’? (6t edition)

Options:
L #7273

> % 274

Question Number : 74 Question Id : 3210111824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 273
> % 274
2 % 275

. % 276

Question Number : 75 Question Id : 3210111825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which aphorism explains about ‘Schain - symptom®? {6‘11 edition)

Options:
1 o 248

> % 249
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Question Number : 75 Question Id : 3210111825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FieT T FF ‘Schain- F&OT F T F FATTT §? (67 HERON)

Options:

, @ 248
. % 249
- = 250

L & 251

Question Number : 76 Question Id : 3210111826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which aphorism explains about *apsorics’? (EFh edition)

Options:
;& 219
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Question Number : 76 Question Id : 3210111826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T YT THIRFT F I H Fdar g7 (67 HERD)

Options:

L % 219

- % 220
=W 221

4w 222



Question Number : 77 Question Id : 3210111827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which aphorism explains about ‘indisposition’? (Eﬂ‘ edition)

Options:
1 & 148

5 o 150
s % 154

4 % 156

Question Number : 77 Question Id : 3210111827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T YT HEIEAAT (FrsraisieE) F G & aardr §? (67 TEH)

Options:

, % 148
2« 150
- = 154

. & 156

Question Number : 78 Question Id : 3210111828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which aphorism explains about ‘idiosyncracy’? (EFI‘ edition)

Options:
;. % 115
5 % 116

5 o 11T

4 % 118

Question Number : 78 Question Id : 3210111828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 115
.« 116
@ 117

4 % 118

Question Number : 79 Question Id : 3210111829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The footnote of which aphorism mentions about iscpa‘[h}"?(fith edition)

Options:
1. ¢

LA

6

P
®
LA
R |

L
g{
LA
(o]

e
g{
LA
O

Question Number : 79 Question Id : 3210111829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fra T % Fedlie & sl F a¥ F Feow Rar w7 (67 FEawom)

Options:

1 58‘

Question Number : 80 Question Id : 3210111830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The polysaccharide employed for the assessment of kidney function is:

Options:



Starch

,_.
&

Dextrin

rJ
&

o oW Inulin

.

Glycogen

Question Number : 80 Question Id : 3210111830 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& Y FRATMA F Jediepa & foe RATHT STerdsss ¢
Options:

1;51—7‘:@'

Question Number : 81 Question Id : 3210111831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The lipids that function as fuel reserve in animals are:
Options:

, « lriglycerols

- u Lipoproteins

- » Phospholipids

4 = Glycolipids

Question Number : 81 Question Id : 3210111831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR H U9 I8 F T H F1F =a I s g

Options:
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Question Number : 82 Question Id : 3210111832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The number of mg of KOH required to hydrolyse 1g of fat or oil is called as:

Options:
1 % Iodine number

5 i Saponification number

% % Reichert - Meissl number

4 % Acid number

Question Number : 82 Question Id : 3210111832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 TMH TH AT 97 FT LESASH Fld & (o H1G2TF KOH & mg T HEIT FT gl AT 2

Options:

| w HTEEE TE
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s« {FE - Ao gE
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Question Number : 83 Question Id : 3210111833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Proteins are polymers of:

Options:



1« Amino acids
- % Nucleic acids

w Enzymes

w Lipids

Question Number : 83 Question Id : 3210111833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

| o 3HEA I &

L« THFH HE F

Question Number : 84 Question Id : 3210111834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bonds in protein structure that are not broken on denaturation are called:

Options:
, w Hydrogen bonds

-  Peptide bonds

= % Jonic bonds

4 % Disulfide bonds

Question Number : 84 Question Id : 3210111834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fargpairentor & FET geet arer SIS AT & Tl FFET AT 6

Options:
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Question Number : 85 Question Id : 3210111835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the nitrogenous base not present in DNA structure?

Options:
1 % Adenine

- % Guanine

5 # Cytosine

4 + Uracil

Question Number : 85 Question Id : 3210111835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATAT FIIAT F FIF-TT ASCISAT 37 HiSlg FgT 2T 872

Options:

1%»?%%?

agaﬂﬁl?r

2.
L % WTEeIEs
I

4. N

Question Number : 86 Question Id : 3210111836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nucleotide is composed of:

Options:



. « Nitrogenous base — pentose sugar + phosphate

> % Amino acid + carboxyl

- » Phosphate + nitrogenous base

, w Fatty acid + glycerol ~ phosphate

Question Number : 86 Question Id : 3210111836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fg{Ferdierss ¥ §T gl &

Options:

iy ATEISTAT 97 + Ielal YR + BIERS

. % HHAT A + FEFAA
. & BIEHE + ATSEISE 37

4 = e il + Towte + wicke

Question Number : 87 Question Id : 3210111837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The *burning feet syndrome’ in man is associated with the deficiency of:

Options:
1 % Biotin

> « Pantothenic acid
% % Folic acid

4 % Vitamin B12

Question Number : 87 Question Id : 3210111837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT A g aren afeer e Bz fr w0 7 wEa

Options:
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Question Number : 88 Question Id : 3210111838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Megw HCL wfag grar &

Options:

| TTREE FITNRHT &
5 % 3Uell HITASIHT T

4 = o°F HfET @

Question Number : 88 Question Id : 3210111838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gastric HCL is secreted by:

Options:
1 « Parietal cells

- % Serous cells

- » Epithelial cells

4 % Mucous cells

Question Number : 89 Question Id : 3210111839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The kev enzyme that converts trypsinogen to trypsin 1s:

Options:



1 % Secretin

- » Chymotrypsin

- % Elastase

, « Enteropeptidase

Question Number : 89 Question Id : 3210111839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ftaaee @ tftaa & waaia s aen Je7 T=EA ©

Options:

Question Number : 90 Question Id : 3210111840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hemophilia A is due to the deficiency of which of the following clotting factors?

Options:

Question Number : 90 Question Id : 3210111840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT A @/ § T 9 U FTAR T FRF $Hr FAT F FHOT &4T 87
Options:
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Question Number : 91 Question Id : 3210111841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The factor mostly responsible for the lysis of blood clot is:

Options:
1 % Fibrin

- % Thrombin
%z % Globulin

4 « Plasmin

Question Number : 91 Question Id : 3210111841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T F T T T F BT gt 3aeERt 7 &

Options:

4 v A

Question Number : 92 Question Id : 3210111842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the immunoglobulin that is involved in allergic reactions.

Options:
 » 1ga

. % 1gM



3 v IEE
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Question Number : 92 Question Id : 3210111842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Test FEeT SRfEmH § anfEe sEregos & aw saw

Options:

Question Number : 93 Question Id : 3210111843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The characteristic red colour of hemoglobin is due to the presence of:

Options:
1.« Heme

> % 0-globin

- u p-globin

4 % Y-globin

Question Number : 93 Question Id : 3210111843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SATEET #T ST T SHSr IUEYY & FROT FT &

Options:

L o 8F

5 ® o-TollTeeT
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Question Number : 94 Question Id : 3210111844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Galactosemia is mostly due to the lack of enzyme:

Options:
, « Galactose —1 - phospahte uridyltrnsferase

> u Glucose pyro phosphorylase

- u Phosphoglumutase

4 % Galactitol

Question Number : 94 Question Id : 3210111844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mo tiar 3O 55 toes f FAT F FIoT 2 ¢

Options:

, SRS - 1 - BIEhT JRERETHRI

1.

, » TOEPIST TS BIEIRerST

A S S
. x PIEPITFCH

4w FATFEITA

Question Number : 95 Question Id : 3210111845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The synthesis of urea occurs in which body part?

Options:
, » Kidney

> o Liver



3 % Muscle

4 % Brain

Question Number : 95 Question Id : 3210111845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR & FeWOT eRR F fRw 39T F g 87

Options:

1. = ﬁﬁ_S'ﬁ
oo W

4 % HATEdSH

Question Number : 96 Question Id : 3210111846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the stomach tube used to aspirate gastric juice?
Options:

, = Diagnex tube

> u Gastrostomy tube

- o Ryle’s tube

4 % Lavacuator tube

Question Number : 96 Question Id : 3210111846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTATYT & TH T 00T T & oI g 9 &1 Foll & ATH T9507?
Options:
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Question Number : 97 Question Id : 3210111847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a function of limbic system?

Options:
, = Regulation of endocrine glands

> » Regulation of autonomic functions

- » Regulation of sexual functions

4 « Regulation of reticular formation

Question Number : 97 Question Id : 3210111847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oo 7 ¥ Fla-ar suaerdy o (e fawen) & =3 7@ 7

Options:

| wx T It @ R
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, o STOIgEd oo &1 ”RETEs

Question Number : 98 Question Id : 3210111848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a type of papillary reflex?

Options:
, = Lightreflex

> « Clonus



- u Ciliospinal reflex

4 % Accommodation reflex

Question Number : 98 Question Id : 3210111848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

orafetaa § O &l 37 T 9K &1 Sy oeeg =781 82
Options:

, » oz oo

5 o FAAT
L« TATCrATETETe Norered

4 % HRIFASUF RoFerrd

Question Number : 99 Question Id : 3210111849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Abnormal plantar reflex is called as:

Options:

, « Dabinski sign

- % Clonus
= % Pendular movements

4 % Carotid sinus reflux

Question Number : 99 Question Id : 3210111849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HATHAT Ieaad Ifaga (SareY weed) Fgarar &

Options:
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Question Number : 100 Question Id : 3210111850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hindbrain is otherwise called as:
Options:

, = Prosencephalon

> w Mesencephalon

-  Rhomb encephalon

, w lelencephalon

Question Number : 100 Question Id : 3210111850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR TEdSH FI TE & FaT AT &

Options:

1. = Wﬂﬁﬁ'ﬁ?

i

B} b
5 % HHTHWAA

5 U8 Teathelld

4 % oleOhele
eneral Aptitude

Section Id : 32101130
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 32101158
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 3210111851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vessels carry carbon dioxide rich blood from all parts of the body back to the heart?

Options:
, w Capillaries

> o Veins

5 % Artery

4 % Ventricles

Question Number : 101 Question Id : 3210111851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fd ¥ 77 WR & Tl 9= § FEa SEHFEEs god & F g6d d o A 82

Options:

| % ShIRTRTT

gﬁm

4%%@

Question Number : 102 Question Id : 3210111852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T H IRAT g g
Options:

1 ® 1%

> B 5%



S 2 5%

g4 ® 3%

Question Number : 102 Question Id ;: 3210111852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The urine consists of urea.

Options:
1. * 19%%

oo® 5%

Question Number : 103 Question Id : 3210111853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Y Sl B3 WERR, 2018 frmar Shar?

Options:

1. ® mm

o u TRfEeamaAr AaATear
- » Tordieer FEdr

T Az

4 & 2

Question Number : 103 Question Id : 3210111853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who won the 2018 men’s Ballon d’Or Award?
Options:

1 % Mohamed Saleh

- % Cristiano Ronaldo

=z % Lionel Messi



4 « Luka Modric

Question Number : 104 Question Id : 3210111854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When is “International Day of Yoga™?

Options:
1.« 21 June

21 July
22 May

22 April

Question Number : 104 Question Id : 3210111854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

e 21 R

s 27
4w 22 3%

Question Number : 105 Question Id : 3210111855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 3TET &0 9187 a9 #/ @37 714 o
Options:

, % 2014

- % 2013

- = 2016



g 2015

Question Number : 105 Question Id : 3210111855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
NITI Aayog was formed in the year:

Options:
;. ® 2014
5 % 2013

5 % 2016

i #2015

Sub-Section Number: 2
Sub-Section 1d: 32101159
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210111856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which has analogous relation to the given words:

Adrenal. pituitary, Thyroid, ?
Options:
1« Pancreas

~> % Liver

5 % Lungs

4 & Heart

Question Number : 106 Question Id : 3210111856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rreredt # & a7 g T4, S BT 70 =gl & Fafoa 2
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Options:
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Question Number : 107 Question Id : 3210111857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If certain code language MEDICINE is the coded as ‘EMIDICEN’, then what would be the code for ‘BHOPAL’ in that
code language?

Options:
. v HBPOLA

> % HBLCGA
- % POBAGC

4 % AOCESU

Question Number : 107 Question Id : 3210111857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I TF FHIT A9ST H MEDICINE #F 'EMIDICEN' S ST A Ftg FFar T &, O, 39 5 s #
'BHOPAL' ST FIT FIT grem?
Options:

. v HBPOLA
. « HBLCGA
- &« POBAGC

, = AOCESU

Question Number : 108 Question Id : 3210111858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sanjana is sister of Richa. How is Richa’s father’s mother’s daughter related to Sanjana?

Options:



Sister

,_.
&

Cousin

rJ
&

.

= « Paternal Aunt

Mother

o=
&

Question Number : 108 Question Id : 3210111858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

y % Sgel

2> % T4 e
5 7 T

4 ® &HAT

Question Number : 109 Question Id : 3210111859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many squares are there in the following figure?

mp
l O

|

4
Options:
e F 12
> o 15
= W 1?

4 * 19



Question Number : 109 Question Id : 3210111859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o smefa & g 397 82

m =——-

11
4
Options:

Question Number : 110 Question Id : 3210111860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁmﬁﬁﬁwmmm#m#aﬁﬁmm%ﬁﬁﬁwNﬁg@wm#
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Options:
1 % 4 :3
oo 411
z % 3:4
4 % 1: 4

Question Number : 110 Question Id : 3210111860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like different types of Chocolates
produced by company ZXYX during a survey in the school LMN

What is the ratio of number of students who like chocolates of type C only to Type A and B but not C?

Options:
1 ® 4:3

2.;"4].

4 % 1:4

Question Number : 111 Question Id ;: 3210111861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogous relation between the first and second pairs. Choose the

missing figures (I and IT) from the alternatives such that they form pairs

iy F a B
St o5 g Nk

Options:

1 &

d} 0D
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Question Number : 111 Question Id : 3210111861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 3210111862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the missing term in the following series?

3. 6.24, 144, 1152, 2, 138240
Options:
| % 34560

> % 69120

s o 11520

Question Number : 112 Question Id : 3210111862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teafoile g@er & Tea e 71 HW

3, 6, 24, 144, 1152,?, 138240
Options:

| = 34560
. % 69120
-« 11520

. = 17280

Question Number : 113 Question 1d : 3210111863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of x, where x is a positive integer.

=

h: .

f

=16

]

x—

Options:
1 ® 250
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Question Number : 113 Question Id : 3210111863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafaT@a T & 3R W X # J@F 79 FEC, F@ X UACHF Ui g

Vi —a .

= 16

Yx—2
Options:

. = 250
. w 252
- % 256

4 254

Question Number : 114 Question Id : 3210111864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If BO = 30. EBO = 150, then CBO will be equal to:

Options:

o R 60
= % 100

4 % 120

Question Number : 114 Question Id : 3210111864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e BO = 30, EBO = 150 g, aF CBO & sUsT gem;

Options:

1 90‘



- = 100

. & 120

Question Number : 115 Question Id ;: 3210111865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If $ stands for — . (@ stands for —, * stands for =, % stands for +,
then what would be the result of the following expression
‘16%3548%8(@5°7
Options:
1 ® 48

> o 49
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Correct Marks: 1 Wrong Marks: 0.25
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oo 49
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Options:

|« 30 R
, « 25 R
-
. 60 R
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are three persons denoted by A, B and C. A and B can do a piece of work in 12 days. B and C in 15 days, and C
and A in 20 days. Then how many days B alone can do the same work?

Options:
, = 30days

25 days
20 days

60 days

Question Number : 117 Question Id : 3210111867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
If 2x + 3y = 5 and xy = 1/18, then 8x7 +27¢3 equals:

Options:
, % 110
- ® a0

s % 130

4 o 120
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afy 2x + 3y = 5 3T xy = 1/18, 4r 8x3 + 27y® ST ¢
Options:

, % 110
- % 130

4 120
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABC is an equilateral triangle of side 8 cm. Then the length of each altitude is:

Options:
1 % 2./3cm

5> o 4.3 cm
z ® 3./2 cm

4 % 3./3cm
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ABC, 8cm§mmwma@ﬁap%| AT el o @ o9 g
Options:
1 ® Zﬂcm

5 o 4+/3 cm
= ® 32 cm

4 R 3~J§cm
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diagonal of a rectangle is 10 cm and it is twice the length of one of the sides. Then the area of the rectangle is:



Options:

25
— cm?

1 ® ‘V{’E
5 % 203 am?
= # 25cm?

i« 253 am?
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Options:

25
2

1 ® \'E
5 % 204/3 cm?
=z # 25 cm?

4 & 25v3 cm?
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Correct Marks: 1 Wrong Marks: 0.25

The volume of a right circular cylinder whose curved surface area is 2640 cm” and circumference of its base is 66 cm,
is:

Options:

|« 13860 ¢m?

> # 7720 cm?

= # 3465 cm?

4 # 15440 cm®

Question Number : 120 Question Id : 3210111870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

.« 13860 cm?
- % 7720 cm?
5 % 3465 cm®

4 % 15440 cm?

Question Number : 121 Question Id : 3210111871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
50 square stone slabs of equal size were required to cover a floor area of 98 sq. m. Then the length of each stone slab is:

Options:
1 ® 130 cm

> % 120cm
= o 140 cm

4 ® 125 cm
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Options:
;1 ® 130 cm

> # 120 cm
z « 140 cm

4 % 125 cm
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Correct Marks: 1 Wrong Marks: 0.25



Two of the side faces of a pyramid are equilateral triangles and the other two side faces are right angled triangles. If
length of each side of the equilateral triangles is 6 m, then the volume of the pyramid is:

Options:
. % 183 m3

5 & 362m?
5 % 60V2m?

4 % 243m?
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Options:

, % 183 m?

5  36V2m?
s % 60V2m?

4 % 24V3m?
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Correct Marks: 1 Wrong Marks: 0.25
Zsin oo cos Ol
If —— =x , then ———— equals:
1+ coso+sin o 1+sin o
Options:

1 # 1+x

> # /X
T #® X

4 ¢ 1-X
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Options:
1 # T4+ x
z % X
a4v 1 — x

Question Number : 124 Question Id : 3210111874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the top of a 9 m high building. the angle of elevation of the top of a tower is 60 ° and the angle of depression of its

foot is 45° . Then the height of the tower is
Options:

13333111
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Options:
1. ® 3V3m

s v 9(V3+1)m

4&-&9”1
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Correct Marks: 1 Wrong Marks: 0.25
The area of the Polygon is:

Options:
, % notequal to the area of the Histogram
> u equal to the area of the Frequency Curve

- % equal to the area of the Ogive

4 + €qual to the area of the Histogram
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